pr < 0.8 GeV/c

0.8 <pr <1.2GeV/c

pr > 1.2 GeV/c

y (RMS) Ratio y (RMS) Ratio y (RMS) Ratio

Vs =10.9 TeV

25 <n<3.0 - 2.74 (0.07) 0.987 £0.010 +£0.013 | 2.75 (0.05) 0.970 +0.016 £+ 0.014
3.0<n<35 | 3.23 (0 09) 0.979 +0.005 + 0.010 | 3.23 (0.07) 0.971+£0.011+£0.010 | 3.24 (0.05) 0.926 4+ 0.017 £+ 0.014
3.5<n<4.0 | 3.71(0.15) 0.968+0.004 +0.011 | 3.75 (0.08) 0.951 +0.012+0.010 | 3.75 (0.05) 0.871 +0.019 £+ 0.012
4.0<n<4.5 | 4.15 (0. 24) 0.929 4+ 0.004 £ 0.017 | 4.30 (0.10) 0.971 £0.016 +0.019 | 4.30 (0.07) 0.816 + 0.025 4 0.029
/5 =7 TV

25<n<30 - 2.74 (0.07) 1.002 £+ 0.007 £ 0.006 | 2.74 (0.04) 1.015 =+ 0.010 % 0.005
3.0<n<35 | 3.23 (0 09) 1.011 £0.004 +0.006 | 3.24 (0.07) 0.998 = 0.007 £0.004 | 3.24 (0.04) 0.998 & 0.010 £ 0.004
35<n<4.0 | 3.70 (0.14) 1.002+0.003 +0.006 | 3.74 (0.07) 1.003 4 0.008 +0.004 | 3.75 (0.05) 1.000 £ 0.011 + 0.005
40<n<4.5 | 4.14 (0.22) 0.976 +0.003 &+ 0.006 | 4.26 (0.08) 0.998 & 0.009 £ 0.008 | 4.26 (0.05) 0.974 £0.012 4+ 0.017



